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PHILOSOPHY — HONOURS
Paper : DSCC-4
(Western Logic - I)
Full Marks : 75

Candidates are required to give their answers in their own words
as far as practicable.
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[English Version]

The figures in the margin indicate full marks.

. Answer any two questions :

(a) What is the relation between ‘truth’ and ‘validity’?

(b) Can an ‘O’ proposition be converted? Explain with an example.
(c) Explain briefly the different senses of ‘or’ with suitable examples.

(d) What do you mean by induction by simple enumeration? Illustrate.

. Answer the following questions (any two) :
(a) (i) Distinguish between sentence and proposition.

(i) What is meant by distribution of terms?

AR+

plce

5%2

(i) Transform the following sentences into proposition and identify which term is distributed and

which is undistributed in each case (any two) :
(I) Only the brave deserves the fair.
(II) Few students are diligent.
(III) Children are innocent.

4+3+(1%+1%)

(b) (i) Translate the following in Boolean notation and express them in Venn diagram.

(I) There are white tigers.

(IT) Aristotle is a great logician.

(i) Test the validity of the following by means of Venn diagrams (any two) :

() No sane person incriminate themselves. But some person incriminate themselves.

So some person are insane.
(I) BRAMANTIP.
(II) EIO-3.

(2+2)+(3x2)

(c) What do you mean by ‘class’ and ‘complementary class’? Explain with examples. What are the
different possible relations between two classes? Discuss briefly. In this context discuss with
examples the different types of logical propositions according to the relations between two classes.

4+2+4
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(d) (i) Discuss the paradoxes of material implication.

(i) What are the laws of thought? Discuss in brief. 5+5

3. Answer any three questions :

(a) (i) What is meant by ‘opposition of proposition’? How many opposition of propositions are there
and what are these?

(ii) If ‘Some S is P’ is false, determine the truth-value of the following propositions.
(I) Some S are not non-P.
(II) All P are S.

(iii) What is mean by ‘existential import” of categorical propositions? Discuss the debate between
traditional logicians and modern logicians in this context. 2R2+(14+1Y)+(3+5)

(b) (i) Determine with the help of truth tables whether the following statement forms are tautologus,
self-contradictory or contingent : 3x3
@ p=lp.@. ~9]
i (pv~pr@>9
(i) [p=>(~po2p)l>~p
(ii) Test the validity of the following arguments by the truth-table method (any two) : 3x2
@® PvQ
P/ ..~Q
@i R>oS
SoT
/.. T>oS
(i) (AvB)>(A-B)
~(AvB)..~(A" B)
(¢) (i) What is truth-function? Explain with examples.

(i) What do you mean by tautologous, self-contradictory and contingent statement-forms? Explain
with examples.

(iii) What kind of statement forms can be obtained by negating each of the above type of statement
forms? Illustrate. 5545

(d) (i) Explain with suitable examples the three senses in which the term ‘cause’ is used.
(i) In which sense does Copi use the term ‘cause’? Discuss. 12+3

(e) Explain and examine Mill’s joint method of agreement and difference with examples. 15
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